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Topic:- English
1)

Question Stimulus :-
Fill in the blank with the correct option.

It was so noisy that we __ hear ourselves speak.
® won’t
® cannot
® mustn’t
® couldn't
Correct Answer :-couldn't
2)
Question Stimulus :-

Fill in the blank with the correct option.

Candidates _ answer two questions from each paper.
® shouldn't
® need
® could

® must
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

Julie swim when she was four years old.

® could
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® can

® might

® should
Correct Answer :-could
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Competitors must abide the Judge's decision.
® for

® at

* by
Correct Answer :-by
5)

Question Stimulus :-

Fill in the blank with the correct preposition.

The Opposition party called for the Minister's resignation the scandal broke.
® after
® across

® along

Correct Answer :-after

6)
Question Stimulus :-
Fill in the blank with the correct preposition.

I saw a few familiar faces the crowd.
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® among
® between
® Dbesides
® into

Correct Answer :-among

7)
Question Stimulus :-
Fill in the blank with the correct prepositions

We will be staying Mumbai ____ next Saturday.
® on, from
® for, from
® by, by
® in, till
Correct Answer :-in, till
8)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® He have been

® dialing your number

® since yesterday

® No Error.
Correct Answer :-He have been
9)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.
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® A burden
® ofones own
® choice is not felt.
® No Error.
Correct Answer :-of ones own

10)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A fool and
® his money is
® easily parted.
® No Error.
Correct Answer :-his money is

11)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A ounce of

® prevention is worth
® a pound of cure.

® No Error.

Correct Answer :-A ounce of

12)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

®)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

® A calm sea
® do not make
® a skilled sailor.
® No Error.
Correct Answer :-do not make

13)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Ifmy uncle
® will come to Delhi,
 he will meet you.
® No Error.
Correct Answer :-will come to Delhi,

14)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Michael bought
® a new computer,
® and he still has the old one.
® No Error
Correct Answer :-and he still has the old one.

15)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

(6)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

If you had warned me,

I would not have told your father
® about that party.
® No Error.

Correct Answer :-No Error.

16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
® She is the weaker of the two sisters.
® She is weaker of the two sisters.
® She is the weaker of two sisters.

® She is weaker of two sisters.

Correct Answer :-=She is the weaker of the two sisters.

17)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of
the sentence given below.

The Prince said, "It gives me great pleasure to be here this evening.”
® The Prince said that it gave him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be there that evening.

® The Prince said that it gave him great pleasure to be there that evening.
Correct Answer :-

The Prince said that it gave him great pleasure to be there that evening.

18)

Question Stimulus :-
(7)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

He said, “I do not wish to see any of you; go away.”
® He said that he does not wish to see any of them and orders them to go away.
® He said that he did not wish to see any of you and ordered them to go away.
® He said that he did not wish to see any of them and ordered them to go away.
® He said that he did not wish to see any of them and orders them to go away.

Correct Answer :-

He said that he did not wish to see any of them and ordered them to go away.

19)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

The grandfather said to his grandsons, “Did you not like my story yesterday?”
® The grandfather asked his grandsons if they did not like his story yesterday.
® The grandfather asked his grandsons if they did not like his story the day before.
® The grandfather asked his grandsons if they had not liked his story the day before.
® The grandfather asked his grandsons if they have not liked his story the day before.

Correct Answer :-The grandfather asked his grandsons if they had not liked his story the day before.

20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the sentence given below.

The fields are being ploughed by the farmers.
® The fields have been ploughed by the farmers.
® The farmers have been ploughing the fields.
® The farmers are ploughing the fields.
® The farmers have ploughed the fields.

Correct Answer :-
(8)
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The farmers are ploughing the fields.

21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Kindly do not smoke in public place.
®  You had been requested not to smoke in public place.
®  You were requested not to smoke in public place.
®  You are requested not to smoke in public place.

® We are requesting you not to smoke in public place.

Correct Answer :-You are requested not to smoke in public place.

22)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Can I solve these sums?
® Can these sums be solved by me?
®  Will these sums be solved by me?
® Shall these sums be solved by me?
®  Would these sums be solved by me?
Correct Answer :-Can these sums be solved by me?

23)

Question Stimulus :-
Fill in the blank with the correct option.

They have money, so their daughter cannot pay her tuition fees.
® few
® the little

® alittle
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® little
Correct Answer :-little

24)

Question Stimulus :-
Fill in the blank with the correct option.

There are _____ slices of cake left over from the party.
® few
® afew
® the few
® little
Correct Answer :-afew
25)
Question Stimulus :-

Fill in the blank with the correct option.

rays of sunlight pierced the smoke.
® A few
® Few
® Little
® The few

Correct Answer :-A few

26)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern’.

(10)
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What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What is the meaning of the word ‘raiment's’ used in the first line of the paragraph?
® Attitude
®  Wealth
® Clothes

® (Cars

Correct Answer :-Clothes

27)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

Out of the given options, what would be the most appropriate Title of the passage?
® Pride in national heritage
® Patriotic youth
® Playing to Western Tunes

® None of the above
Correct Answer :-

Playing to Western Tunes

28)
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Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the world “slang” mean?
® A kind of language
® A kind of fight or combat
® Accessories

® None of the above

Correct Answer :-A kind of language

29)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern’.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the phrase ‘obsessive aping of the glittering West’, used at the last of the paragraph suggest?
® Hatred for western culture.
® Blindly copying the west without being able to distinguish clearly between the positive and negative aspects of western

culture.

(12)
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® A desire to settle abroad.

® None of the above.

Correct Answer :-Blindly copying the west without being able to distinguish clearly between the positive and negative

aspects of western culture.

30)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

Why does the author describe the clothes as ‘outrageous’?
® Because the clothes are so unusual or strange that they seem to shock the onlooker.
® Because the clothes are so attractive that whoever sees it gets carried away.
® Because the clothes are so expensive and gaudy that everyone feels envious.

® None of the above.

Correct Answer :-Because the clothes are so unusual or strange that they seem to shock the onlooker.

Topic:- Hindi
1)

Question Stimulus :-
fFafafEa T @ aFYde Ted] I A @3 T sgfawalt Al A I8 e &1 9 +é)

HRAaY § ATHT § &l e DA gH & T, I sid 3R @ & e g yoiey @ winga ok A=
AP RI B ATIRADT 81 3T B Pprait 3 Rl g3 smwaraii &1 Afia i fRR 91 &1 $19 39
TIPSR & T B Uele # TeT & ol Hidw & f@em o wal &1 Halg os & 799 & AT & | Teu-ged
ﬁa‘rwm%,m—mﬁﬁwaﬁﬂ%ﬁ%awm—mﬁﬁwwﬁﬁamgﬂ%wﬁ
gRrymar wifge & S, Ieifa ik fagm ¥ A8l gfS ik o ugw & ufirss ) Agy $vd 8, F F Iom @t
m_mﬁﬁ%amﬁ%lewﬁwmﬁﬁﬂﬁqm%%,G%q?fw%ﬁﬂ?mﬁmﬁﬁﬁamﬁw\iﬁ?
Ffaal &1 $M Bl
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TSl o fpaat sravaear g2

o JIiFISRI

* TNM R a7 AIfgADRI Bt

o amfrel B

* WM R a7 aFDI P
Correct Answer :-ST[d 3R a7 IieaPpRI B
2)

Question Stimulus :-

fFrafafad T @ aryde teer SUF R Y T sgfawad uxAl § 98 fiwer &1 T $31

HRATY & TP § &) 3-% BT g7 8 T, ﬁaﬁﬁvm@%ﬁmeﬁqﬂﬁwﬁmaﬁvm
AIRTABRI BT ATIGDAT g1 3T BI b1 3R fFad! g3 smeursit &1 fia ik fRR 791 1 19 39
TIRIPR & TTHA BI Uedle F TeT § ol Hidw & fOe o wal &1 "alg os & A99 3 T I | Tea-ged
o o U IS §, w—mﬁa’rwaﬁﬁ?—ﬂum%a mﬁﬁwmﬁaﬁam%ﬂ

gfrumar wifger o s, Ieifa ik fagm o =& gfS sk qﬂg%:ﬂ%@ﬁﬁ TGY P B, am‘ﬁﬂwna‘r
Gﬁﬁn_mﬁﬁéamﬁ%lmamﬁwﬁaﬁqq?%%,ﬁ mﬁwﬁﬂﬁama@ﬁaﬁ?
Hfaal HT & B

AIRUSR T TH HIT 82

o Tt BT T doat

o @13l P Wi IR MRS P FRR T 7

o e Yol BT HH ST &

* WHI-THN & foQ wifec St Ta=1 ovan 3
Correct Answer :-3®13{f 3T id 3R T3 oY fRR g91a1 3
3)

Question Stimulus :-
Frafafea Tw o wryde yeer 9P H kA T sgfawad uxAl ° 98 fiwer &1 wa HI
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HRAaY § TSI § &l 3 DA gH T 3, I dlie 3R WREA & '
AIRTBRI BT STaRTHAT 21 TS I AYPrai 3R et g5 smeurad &1 wfwa ok
S

:
A
=
3
3
!
!
)
E!
g
:

Hfaal o1 HMH 2l

T & ARKTSH B SIF Agy BT 82
o I MR TH

Correct Answer :-gf3 iR a&

4)
Question Stimulus :-

fFafafaa T & wFYde dea] I A 33 T sgfawalt wxAl A a8 e &1 9 +¢)

YRATY § M1 § Wt 3R BN gH ! 8, I8 we 3R IR & e g guiey § wppa o aa=
RIS RI B ATIRTHdT 31 3T B Xprait 3 et g3 smwureit &1 Afia ik fRR 91 &1 $17 39
TIPSR & T B Uellal B TeT & ol Hidw & f@e ard Bal &1 Harg 8s & 799 & AT & | Teu-ged
H S U T8 §, WIUI-UT0T & &l TP SH-da-Ig SHT g U1 9H-914 § il g M0 fraia o I 8, STl
gReyTeT TR # S, Teifa ofik fagm= ® 811 gfS o ad F ORI B AP HId 8, HH B U= at
aﬁvn.eaqﬁtﬁ%an?ﬁ%lanﬁﬂmﬁa‘rvﬁqn@?,ﬁﬁw@%ﬁqmaﬁﬁﬁammaﬁ?
HfaGl &1 o gl

w4 Bt IR & Pel e 82
. g
. TR
o Tftrw &
o HUAl A
Correct Answer :-gcg 3

5)
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Question Stimulus :-

fFafafaa TN & wFYde ded] I A 33 T sgfawalt wxAl A I8 e &1 9 #¢)

YRATY § TP § Wt 3R BN gH I8! 8, I8 de 3R IR & g g quiey § wppa v aa=
RIS RI B ATIRTHT 81 3T B prait 3 Rt g3 smwurait &1 Afia ik fRR 791 &1 $17 39
TIRUPR & N B UcleT o TeT & &l Hidsw & f@e ard wal &1 Halg 8 & 799 & AT & | Teu-ged
H S U S8 §, WIUI-UT0T § &l TP SH-da-Ig SHIT g U1 9-9141 § il g M0 frdia & I 8, STl
uﬁwmﬁ%wﬁaﬁﬂ,wﬁﬁaﬁ?ﬁsmﬁqﬁg@aﬁ?ﬁﬂg%mﬁwmﬁm—‘ucﬁﬁwna‘r
aﬁmgaqﬁtﬂ%an?ﬁ%lanﬁﬂmﬁwﬁvﬁqn@%ﬂ%qﬁm ¥ e agw &t URa s dws! iR
Hfaal BT HH Bl

AR YAl B gd ©9 A ¢al 82
* AT 3R Ffa

Correct Answer :-33@® 3R $fa

6)
Question Stimulus :-

Fafafaa s @ aFyYde Yede Sd A 3 T agfawedt u=Al ¥ "8t fawen o1 99 B

Tem-fife-a= & ghareh agad,
TEHY el 8, I8 oW PI-9T 82
R o udf d xelt w@ T R,
HAR BT RRAM, 95 3 39 91 32
g4t el &1 foraq wyw s,
Rifera frar gurT, 98 3= B9 A1 82
BIST TR quraq 3w & e &,
9% W AT S5l UR 9% o B AT 82
. ward gz Wl us wd et 9,
TEHU-HT WG, I o DI AT 82
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o et o= Wit e g @,
3 WS 941 G311, I8 A I A 32
A FIfe Ut V9w wya Rrad
YRd Ryara goin, 98 371 HIF-41 32

URA B SH-HH o fadiwansit It a0 ot 78 82
o Urpfa® 9 Wife di<d Fi
* YRA P GYIG qUT 4 UT=T B
* YRAAIRYEl & e fa=Ri &
o UIpfa® A<y 9uT YRR &1 HgHar ot
Correct Answer :-UiHfa® Hied auT HRdal St HgHdaT B

7)
Question Stimulus :-

fFrafafa s @ aryde Teer 39 - 3 T sgfawad uwal d 98 faven &1 97 &1

FeH-fifv-a= # gRarh agadl,
TGHY STEl §, I8 O P-4 82
Rrad o udf @ exelt w @ Tt R,
AR &1 RRWMP, 98 331 314 491 32
g4t Rl &1 foraq gyw sEm,
fRiféra forar U, 98 <21 B4 A1 32
BIST WISy qUIaq e H fiar &,
9% W AT SIgl UR 9% o B AT 82
f: T g 9t wig e wiET 9,
TAEHU-HIA TG, I8 & P AT 82
e e o= & e R B,

q TG g1 GPH1, I8 ¢ B AT 8?2
T Pife WIS Fa& 9Yd fordad
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HRd Ryarg goll, 98 o1 $19-91 82

BIST TR JUIae ST § a1 &1 399 IW & 9 o for faxdivan 6t 3R Wda fvar mar g2
o frqufad g waw
o ¢fikar 9 famgan
o fiqufea 9 srgmeTiar
o fa=gan
Correct Answer :-fiqufda T smmeiar

8)
Question Stimulus :-

fFafafaa s @ aFYde dgak SHd A fdd T agfawedt uxAl § Agt fawea &1 9g7 w1

FeH-fife-a= § giarh agadl,
TGHY STEl 8, I8 O P-4 82
Rrad ora o I eret w8 Ut B,
HOR $T1 RRM, 98 37 S 491 32
g4t Rl &1 foras gyw s,
Riféra fear gurT, 98 31 B4 A1 82
BIST WIS qUIaq 3¢  far &,
98 M UT T8 U 98 o P | 82
7w g ot wiE v =ET 9,
TEHU-HT W, I o DI AT 82
e e o= & e R B,

9 WS 91 a1, I8 o DI AT 82
AT Hife WIS Jae Aqd Rrad
YR Ryamg goll, a8 =1 SH-91 82

BT BT BT UG 7?2
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* & P IORTA

o UTpfae Hied @1 femor

* < I gfoer

o I Pt APfd T @
Correct Answer :-331 &1 TURTH

9)
Question Stimulus :-

fFrafafa s @ Aryde Teer 39 - G T sgfawad uwal d 98 faven &1 99 &1

HeH-fifv-a= § gRarh agadl,
TGHY STEl 8, I8 O PI-T 82
R o udf d xelt w@ Tt R,
AR &1 RRWMP, 98 331 &1 491 32
g4t Rl &1 foraa gyw sem,
Riféra fbar gurT, 98 31 HIF AT 72
BIST TRISY quraq e A frar &,
9% W AT S5l UR 9% S BIF AT 82
= ward g ot uiE v oE 9,
TEAV-HIT FHE, I8 3 DI AT 82
e <aer o= i e R B,

I 9 91 AFHA, TF A P AT 32
A Hife WIS Fa& YA Rrad
YR Ry g, a8 3”1 H1H-91 82

PIAT H HRA B TS fHa-t ga1g 718 82
o A G
o TR RIS

o H IS
(19)
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o TN HINS
Correct Answer :-91ei S

10)

Question Stimulus :-

Frafafea s o wryde yger 39 i 3 T sgfawad u=al § I8 fave &1 99 &1

FeH-fife-a=t # siarh agad,
TaHY W8T ¢, 96 o PI-A1 62
R arid o § wxelt 1w TR R,
WUR 1 RRWAM, 98 39 S 91 82
g4t Rl &1 foras gyw s,
Rrféra fear gurT, 98 3 Hi4 491 82
BIST TWRISY qUE 3Ty ¥ frar &,
g I YT STET UX 96 4 S A1 82
7 @ g Ot Wi WA wer 9,
AELHV-HRT TG, T S B AT 32
foreer Rt o Wi ug ford @,

4 S 941 a1, I8 o DI AT 8?
AT Fife UTE Jaw AYd foras
YRd Ryara goin, 98 371 Hi9-41 32

AR &1 RRIWT 331 {5 qaran mn 32
* WP
* YRd
* SUH
* AUTd
Correct Answer :-HRd

11)
(20)
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Question Stimulus :-
' SN 59 Wg-ug H @8-
* gurF, gus
o T, TG
o TGN, TR
* YR, U™
Correct Answer -8R, 999

12)

Question Stimulus :-
3 U Y e wyE # T o-
* IEH, 3G
* dgH, 93AH
* dIgwd, TPl
* IWERI, I3=I@
Correct Answer :-49Tgwid, dTHTAGT

13)

Question Stimulus :-
“HIA qe ® SIF-TT UT 82

e Tq
o T
#t

o 3t
Correct Answer :-3fit

14)

Question Stimulus :-

fFrafafad &  #19-91 g Twayga 82
(21)
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TR
* ATR
* FHINR
* 3R
Correct Answer :-aiTR

15)

Question Stimulus :-
W% Bt qA H @A F e w8 geraw 8-
o TH Y WA G
< d @M
o YU & 3§ ST
o U IJARAT
Correct Answer :-2ig & g1

16)

Question Stimulus :-
"AEX DI gaAIgAl SST HeTaX BT Wl e g-
o TSl & T
® SR ST
* Qg T &
o FHIT g
Correct Answer :-98T ST

17)

Question Stimulus :-

“IGERATS SUfRT THRM YT Ie AT HA BT TATH Hal 81”7 ¥@ifpd graw o1 4 8-

* &% IAER ¥ fars
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o wrd gff
o fayr g
* STd IqeA BT
Correct Answer :-3ardf gfd

18)

Question Stimulus :-
fea T ari & o U =g @1y Fifere-
HHhel ¥ WY I P A arr’
* DEHTH
* HUIHIPIU
* HHEY
* B
Correct Answer :-HieHPIol

19)

Question Stimulus :-
& T areiw & e Ue wreg #1 wET Sifore-
T WM W IR w9 § g arar

o Tyt

* TFEUA

* TWAMY

o Wftft
Correct Answer :-®JHEAd
20)

Question Stimulus :-

R ¥ ¥ Ud® WU F 16-16 AETE R 3id | = 8T 21 9€ Dol -
o diel

(23)
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Correct Answer :-3UTg

21)

Question Stimulus :-
3ieT Be ¥ afa Pl g 31
° TT P 3dH
® U 3d H
* 24 A & TG
o T I P T
Correct Answer :-@U & 3id &

22)

Question Stimulus :-
T & gRT 91T B U7 § G gh-

o firg grarsit
o guriaT wrETSh
* 3ITeRUNY ATATSH
o Sudad ot
Correct Answer :-Jaar qrdrei!

23)

Question Stimulus :-

g ¥ ¥ 3z ad= &1 99 Fife-
° 3{3&-@
° IR
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o I ®
* J3ifued
Correct Answer :-3Rg

24)

Question Stimulus :-

o T SR acd-il &1 T4 Bifoe-

* 3¢

Correct Answer :-3c¥

25)

Question Stimulus :-
TfR® ufkar @ty um 3-
o dffe
* gsI
o fasdt
o Wil
Correct Answer :-gs1

26)

Question Stimulus :-

AADTd B Pl URIg TTT SATRT fbg U # 82
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o gudlt
Correct Answer :-gcait

27)

Question Stimulus :-
& | afet @1 gatgard T8 8-
o i
o TGYUHI
°* TR
. T
Correct Answer :-3g

28)

Question Stimulus :-
'weA’ fra § @ fewer vafgard 3-
o e
* PR
* WY
* T PIE TH
Correct Answer :-%d-

29)
Question Stimulus :-
3T’ BT Tgd e B

* T

o IRy

* 3y

(26)
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Correct Answer :-gs!
30)
Question Stimulus :-
UgAH’ P aH e &-
o yftw
o u§H
o iy
* 3@UH
Correct Answer :-Jd@fism=
31)
Question Stimulus :-
"gSdS’ FT THN g §-
¢ S WIS
uls ¥ g
Uisl @1 dis
T | IS el
Correct Answer :-91gI ®1 4

32)
Question Stimulus :-
‘et BT | e B-
® J3IG+3d
® J3[+3id
® J3Gl:+3(d
® JIRIq+3
Correct Answer :-3/[+3id

33)
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Question Stimulus :-
weq # uged i Sa-dt 22

o gur Ay

o & Wiy

o gfZ wf

o 3mrfe Wiy
Correct Answer :-gfs |f¥

34)

Question Stimulus :-

fFufafea 6 arwit & @ wyw g sifaw Fifda &, Av o1 SR ww A gafeya Fifvm)
(1) AR

(T) 1 T Siferw

@) fagm, gfSwm qur ary T

() YaH1 SR TRy

(T@) BT A&

(6) TR AHR B §

e ITqAY
e IgHT
e AT
® YT
Correct Answer :-9d3 9

35)

Question Stimulus :-

fru faf@a 6 areixi & & uyw g sifaw fAf3a €, A9 o e w0 & gafeua Hifm
(1) T@ad YRA BT

(@) Fifp et it faemdf € & v

(}) ST 3R ITYHT I/ 581 WR
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(&) Twguf S amet faenffal v @
(9) W YRd & ARRS g 9T HRd Bt

eY

(6) iR BT 8

® gdvd

e Y499 ¥

e dJgav

® qvdyYg

Correct Answer :-9494dv

36)

Question Stimulus :-

“&U T 99 o g1 87 39 Ul # 9 Vs ©-

. &
e g

® 91

* WA THI

Correct Answer :-91

37)

Question Stimulus :-
“JER-UTIE FaI V& ARI-U FHUT AR 39 Ufery # SI9 A7 PR -

® JUHT

* TUDh

o Jel

o yifqw

Correct Answer :-%U&%

38)

Question Stimulus :-
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fru # ¥ g5 g sifee-
* & U B F31 ¢
* TUA UE BH HAI B
* Ig P gHA AT ¢l
* TN EH I8 MW gl
Correct Answer :-g# 4% & &1 5l

39)

Question Stimulus :-
fra § ¥ 35 o oikte-
o TSI A uA feram
* Jg Ffgar HaR A foraT 71
o R U= &I foram
* UTA YD UG TP &
Correct Answer :-97dl §5® ¢ gt gl

40)

Question Stimulus :-
A dferal &1 daaor Hifoe-

YRd A forg +ft gwIr= faar w1, 3 3= foaR) g wRa diY 9= 91 A HEdaT a9 3iffa #1 &9 9 ISt
BleHT gl g W aﬂmaﬁmﬁwﬁmwﬁ?ﬁm%ﬂmﬁhﬁ%ﬁalﬁa‘fﬁnﬁﬁﬁl

* Iql sitaw 3 faarR
* gl 18 981 M8
o Afadar &1 ga
o WA
Correct Answer :-3Tl silad 39 faar

41)

Question Stimulus :-
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34 ¥ oH-u1 fawey gt AiA1 faweul 9 i @e ST 32
o Tfa
° U™
o g
* e
Correct Answer :-Tg1

42)

Question Stimulus :-
a1l Tsg Yot F fow i & @ e o 3, T Fifore-

e Riz
* UH
o HiferP
g
Correct Answer :-A1fi®

43)

Question Stimulus :-
Frafafed sryeim-fada gt 7 & $I T g Wel Tl 8, 797 Pifre-
* REPRGS
* ORI
e UU-yUg
* URT-SrY
Correct Answer -3 R-T&@d
44)
Question Stimulus :-

Fafif@d sgav-fadw gl § @ 915 e g 98 §, 994 Pifre-

* FU-HIAl
(31)
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o PUU-TRIE
o FrU-PUT
o T A I T

Correct Answer :-3u-$ul

45)

Question Stimulus :-

o, =7, IUBNT # Saad P P forg [ formw frig &1 waT fan wiman 8-

* UXAD
o fwaIfestu®
o qof fRm
o 3y faRm
Correct Answer :-fasmiieaius

46)

Question Stimulus :-
o & § Teor §-

o Ygadl

* HHMA!

* UIEA

o lod
Correct Answer :-Udgad!

47)

Question Stimulus :-

w1yd T &1 R T H wANT ST @2
* R

* IR
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* YYH® IH
o %W
Correct Answer :-§iIR 3

48)

Question Stimulus :-

w9 ¥ ¥ Gft Juew d@ 3= ARk o & arter I g o §, 9 39 RS B w1 wed @2

o JIYRUIHIT
Correct Answer :-UryRufieIor

49)
Question Stimulus :-
dwid AUt fRTen oY S1or T FE 9 8-
°
o @I Ft Bfaa
. P
* e
Correct Answer :-Sg! @t Bfa
50)
Question Stimulus :-

CANCELLED
Wit &1 Su=a g § 9 8-

o UIw FI grad
o I & U

o RoUmAf
(33)
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° WA
Correct Answer :-d1% &1 gad

51)

Question Stimulus :-
HAYST BT Ul ATRIS THER T HIH-T 82

o qeitad

o g

o Y faar

o T A IS Tl
Correct Answer :--asilaq

52)

Question Stimulus :-
4 ugelt &1 9 SR ghe-
“T@ ISt | & W 3T g

* HTHI

. T

o 3fST

o T A I T
Correct Answer :-3fsT
53)
Question Stimulus :-

g ugelt &1 9 SR ghe-
“HTd RIS, I 31 SR g3 O T T111”

ogg'r\q:[
* TRUW
® dR
(34)
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* HWHR
Correct Answer :-3g4y

54)
Question Stimulus :-

Yot ST+ S+ T+ AT+ T+S” BT I Tt HEYOT gRM-

o TH I DI Ao
Correct Answer :-uigret

55)
Question Stimulus :-
9, S, o, ¥ IaTER &-
o TR o &
o wxif-Fudf v &
o Judf e &
* A T P
Correct Answer :-¥i-duadf e &

56)

Question Stimulus :-
e v & We-gm & Srf-ig A | HF 91 T @2

* Fag-sIeg = dIGa-XNy
* Sal-sarel = fIeit-aue
* TBI-FST = WM | A BIST gAT-Sil =T 7 8

o F3T-I3M = AR-gad

(39)

GET IT ON
Google Play


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Correct Answer :-93{1-53(T = dRI-gdd

57)

Question Stimulus :-

“IYH-HY”’ Neq-giH BT Tl 3rd-g ghm-
St T YT gl- Sl Hel o 4P

YA qrAT-Hga ardl

S T YHdT gl-Sil Bl = AT AP

S} Yyl gI-Sil HT Sl b
Correct Answer -5l 9 Y&dl gI-5l &gl 7 ol &b
58)

Question Stimulus :-

e 9 i < F U s &1 99T Hifoe-
o yfia®
o foadt
o urieh
* WIUPRY
Correct Answer :-3[HTdiah

59)

Question Stimulus :-

fFrafafaa aga d I Y@ifed g & I e FT1 T4 Fifore-
o fiqery

* Uy

(36)
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Correct Answer :-3Uaqg

60)
Question Stimulus :-
o YD TYEY BT
* HYUGH dYEY Bl
* JUTEH AYFY BT
o FU T FI
Correct Answer :-3UigH di&y &1
61)

Question Stimulus :-

UTETESY Weg BT THR U ?-
* HIA P MSI
o U ¥ M
o WA & forg M
* HTA GRT WS
Correct Answer :-ATd & o st

62)

Question Stimulus :-
forg wur # 9aft vl & f9 3R 2Isg &1 |Y 8T 8, 98 99 3-

* TUEY THNE
® JHIER g& HHI
o Ffav®d Tgdife Tu™
* TWW &5 AAN
Correct Answer ;-3 &5 99

63)
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Question Stimulus :-
e T # @ Iva 919 &1 9| Pifore-

* T8 @M @I |l T[T
e AN WP 7
* IuYa Il
o T A B T
Correct Answer :-3g #3 [&® @

64)

Question Stimulus :-

31T SHSTT TR § HiH-4T 9T 82
o od arem
o W /=™
* YIq =™
o T A I T
Correct Answer :-4id a/=H

65)

Question Stimulus :-
‘SreqETdl’ H1 St gaiy 3-
® Apprise
® Appraise
® Assiduous
® None

Correct Answer :-Assiduous

66)

Question Stimulus :-
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HRIE oY IUge W B
® Mention
® Modification
® Manipulate
® Manifesto
Correct Answer :-Modification

67)

Question Stimulus :-
'S8T 1 Ugd Xd I81 Ugd Bia’ Aipliaa &1 & o 32
o ofd & o oo ft srr 16t
o FfafrRgudme
o B3 HegThe gt @
e Hf3 UG yqur g ?
Correct Answer :-$fd Heu-Tid §iaT &

68)

Question Stimulus :-
AT A w8 T 3 & forw el Aiwifed &1 T 82

* TR TN WM RSP BT @G
o TR B il oft a1 foram
o fIwlt & UTT A ST ger
o TR P T H I
Correct Answer :-fd&it & YT | ST ger

69)
Question Stimulus :-

T TR STael” didbifad o1 I 3 g2

o fIorelt oY wof dfiw el @
(39)
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o wrdf amerft gER FI fRiaT A R

* U PIeAT ST =MRY

o WEYUTH Sa Sl 3
Correct Answer :-&@rdf et gar ot fiar 781 Hvar
70)

Question Stimulus :-

AR & R[S HFT BT TG PoTL-
* IFT U
o fdars & SUTED A
o gad
* PIS 3fe Tl
Correct Answer :-faarg & Suaes o

Topic:- General Knowledge
1)

Question Stimulus :-

Which among the following States is known for Sandalwood? / fafafaa # ¥ @19 91 Is9 9T
P18 & fore =T wrar 32

e Qdisha / 3NfE=m

® Madhya Pradesh / H¥I e

® Goa/ a3

® Karnataka / HAlCPH
Correct Answer :-Karnataka / ®Ic®
2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below: / g «t

firems sk = RE 7w Fiel # A 98 I &1 U B
List-I List-I1

(40)
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1. Sikkim a. Kohima
2. Rajasthan b. Bhubaneshwar
3. Odisha c. Jaipur
4. Nagaland d. Gangtok
gfa-1 gfa-11
1. Rifeww a. difgAT
2. IR b. Yai4R
3. SSMT C. SIqY¥
4. ATTAS d. el

® 1-d,2-c, 3-b, 4-a

® 1-d, 2-c, 3-a,4-b

® 1l-c,2-d, 3-b, 4-a

® 1-d,2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

Where was 18™ South Asian Association for Regional Cooperation (SAARC) summit held?/ 18ai EFEI'UT E'QT*TI%

T e TS (A1) el gl UT?
* Kathmandu/ ®TSHIG
e New Delhi/ T8 faeet
* Islamabad/ S¥ATHISIG

® Dhaka/ GIPI
Correct Answer :-Kathmandu/ BTSHIg
4)
Question Stimulus :-

Seaweeds can be used as : / WWWWWWWW%

(41)
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1. Food / 3 2.Fertiliser/ 49iq 3. To remove undesired nutrients from water / T #
SUERTt Tive dadl H1 Forem & e

Select the correct answer from the option given below: / 7 fawel d 9 It IW &1 797 I
e 1and3/13R 3
® 2only/ Fad 2
® 3only/ ¥ad 3
e 1,2and3/1,2 3R 3

Correct Answer :-1,2and 3/ 1,2 3R 3

5)
Question Stimulus :-

MS applications are examples of / MS SfRIP R & m?l
® Platform software / WewIH AIeedu’
® Hardware / E'Iéa'q?
® Operating System software / STRTET e JiveduR
® Application Software / STRIHRA ATFdaR
Correct Answer :-Application Software / fRIHIT JToeduR
6)
Question Stimulus :-

CANCELLED
is the smallest gland in human body. /  HTAd TR A 999 Bt Uiy %I

® Parotid gland / ?Ufl]ﬁ hfy
® Apocrine sweat gland / Rravardat wita Uiy
® Apocrine gland / SrqETar UfY
® Ebner’s gland / TeR 31 Uy
Correct Answer :-Apocrine gland / 3(THTdl Uy

7)
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Question Stimulus :-

Which is the longest river in India? / HIRd A 99 wdt =r¢ﬂ &I It %?
® Brahmaputra / SSTgIYA
® Ganga / T
® Godavari / Tnﬂ'ﬁ'\&
® Narmada / qﬁET

Correct Answer :-Ganga / Tl

8)
Question Stimulus :-

The Salal Project is on the River / ddrd CIELIEE] - TR %I
® Chenab / CLiG|
® Jhelaum / @?ITI'
® Ravi / T4t
® Sutlej / Hdelol
Correct Answer :-Chenab / 319
9)

Question Stimulus :-

Which is the largest State in India by area? / aa & gaﬂ%w YRA § S IT 69 a4 d31 %?
® Madhya Pradesh / H¥q eI
® Maharashtra / 'FIE'RTg
* Karnataka / FIcH
® Rajasthan / XTSRRI
Correct Answer :-Rajasthan / JTSTRITH

10)

Question Stimulus :-
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Where is the Central Food Technological Research Institute located? / P @rer menfiast I AR
Hg1 Rd 77

® Bangalore / UK
® Chennai / ﬁaﬁ
® Mumbai / 'ﬂﬂ%
® Mysore / 'a'\‘B'
Correct Answer :-Mysore / 83

11)
Question Stimulus :-

Which of the following states is NOT an the border of Gujarat? / fd & & B9 TT I ToRTd &1 Har 8Y 82
® Telangana / GRRIEI
® Mabharastra / HEIRTY
® Rajastan / ITSTRITA
e Madhya Pradesh / |

Correct Answer :-Telangana / d@THT

12)
Question Stimulus :-

Which historical place is a small village in the Navsari district of Gujarat? / Cap k)| ﬂ'ﬁlﬁTﬁ-ﬁ? BT oRTd &
TR o ° U Sler | g @2

® Chauri Chaura /iﬁﬂiﬁﬂ

° Malgudi/'l:l'l?l'ﬂg)f

° Dandi/ﬂ'i?ﬁ

® Noakhali / TI3T@TeR
Correct Answer :-Dandi / Gis!
13)
Question Stimulus :-
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Which is the second highest mountain in the world? / {3y &7 QI e FHA1 udd S AT 82
® Mount Everest / @i’\‘f tﬁf?‘f
® Kangchenjunga / AT
* K2/
® Dhaulagiri / et
Correct Answer :-K2/ &2
14)

Question Stimulus :-

Where is International Court of Justice located? / GI?RTI'@'CI T Hgl (AT 32
* Hague — Netherlands / 87 - Higzagd
e Cape town — South Africa / U IS - TISY AMPBHT
e Geneva — Switzerland / 54T - fesRds
® New York — USA /< 9T® - . TH.T
Correct Answer :-Hague — Netherlands / 37 - fleragyd

15)
Question Stimulus :-

India was part of an ancient super continent called Gondwanaland. It included present

day . / HIRd MSAFTAS ATHS TP YT HETEIT T AT AT aodA= L
e ot

South America / aﬁ.-I'UT 3rAfY®T
Africa / 3PIPT

Australia / Gﬁ@%ﬂﬂ
All of the above / SwRiga 9t

Correct Answer :-All of the above / SR Tt

16)

Question Stimulus :-
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What is the traditional colour of the jersey of the Indian national football team? / YR TI'@TI' m}fﬁ & 3

oY &1 yRmive W R g2
® Sky blue / STHHTT iaT
® Green /BRI
® White / §a
® Red/dld

Correct Answer :-Sky blue / SITHHTHT =T

17)

Question Stimulus :-

2014 Hockey World cup was won by? / 2014 T gt des HY fraq sfiar?
® Australia / Glm
® Argentina / NG|
® Netherlands / :ﬂm
® India / HIRd
Correct Answer :-Australia / 3T erT
18)

Question Stimulus :-

In the international cricket, who is the highest test match wicket taker in the world? / GI'_vITI'@'q fpdpe ﬁ, q%'

fay & & &< ¥ 9o it e R aren s 32
e Anil Kumble / 3Ifd $aat
® Muttiah Muralitharan / GIOT GIATeR
® Glenn McGrath / 789 A%
® Shane Warne / R @

Correct Answer :-Muttiah Muralitharan / G347 TR R

19)

Question Stimulus :-

(46)
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The name of Sachin's autobiography is . / e B ATHBYT T 19 %I

® Wings of Fire / fava offr TR
e Playing It My Way / WS §¢ A9 d
® The Story of My Experiments With Truth / © wH 3T a/ Q’W’aﬁﬁﬁ fay gy
® Jeet Appki / Sitd 3Mmus!
Correct Answer :-Playing It My Way / W3 3¢ 4G 9

20)

Question Stimulus :-

Who has won the 2016 National Snooker Championship? / ?T@'q Hb uferaRrT 2016 fFaa St %’-’
e Siddharth Parikh / RigTd Ui
® Pankaj Advani / Gol SISt
® Aditya Mehta / HT%W ﬁ?ﬁT
® Mahesh Yadav / 'q%'QT Ylgd

Correct Answer :-Aditya Mehta / 3Tfeed AgaT

21)
Question Stimulus :-

According to RBI guidelines, the term “Bulk Deposit” is used for single Rupee Term Deposit of / Wﬁ\’:ﬂg &

YR, "o SHI” UG &1 SUUNT__UHhd $udl ST & e giar &
® Rs. 25 lac and Above / Rs.25 @IRG 3R TP HW
® Rs. 75 lac and Above / Rs.75 TG 3R 3P HW
® Rs. 1 crore and Above / Rs.1 m 3R TP FW
® Rs. 50 lac and Above / Rs.50 W@ 3R 3P FUR

Correct Answer :-Rs. 1 crore and Above / Rs.1 3’_@3 3R TP FW

22)

Question Stimulus :-

(47)
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Where was the first hydroelectric installation in India was installed / HRd o gad q?ﬁ UAfaSTe TATIHT B9 Tt
qt 2

Mumbai / Gag
Panaji / TUTSH
Darjeeling / SIfefferT
Kolkata / ®iaeTdr

Correct Answer :-Darjeeling / SISt

23)

Question Stimulus :-

Which of the following is NOT a Kharif crop? / fofafead 3 CaC Th TP B qﬁ %?
® Jute / VC
® Maize / HFDI
® Mustard / Il
® Rice / dIdd
Correct Answer :-Mustard / 91

24)

Question Stimulus :-
Who said ‘Supply creates its own demand’? / fro weT1fe “GITl]ﬁ:, Y U {1t %”?

® Marshall / TSI

e J.B.Say /W& &

e Adam Smith / TsH fR1Y
® Ricardo /ﬁ?ﬂﬁ

Correct Answer :-J. B. Say / 9.1 &

25)

Question Stimulus :-

The women regiment of INA was founded under / 3{Tellc o< wiw &} wfger ome & I E_FIQ? 3t 'g'g Uil
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® Capt. Laxmi / HTE aeHt
® Aruna Asaf Ali / 3TSUIT 3TAW 3ell

® Anita Bose / 3IdT &1
® Rajkumari Amrit Kaur /TITXI'QWTI'\P[ Sqd PR

Correct Answer :-Capt. Laxmi / ST d&H
26)
Question Stimulus :-

Who among the following was awarded the Bharat Ratna in the 215 Century? / fada 21-cﬂ Tl ¥ o uRa

@ ° gwTia foar T 3r?
® Amartya Sen / 3 A
 Bhimsen Joshi / WA wi=ht
* JRD Tata / O.3MR.8 reT
® M.S. Subbulakshmi / TH. T, gega&Ht

Correct Answer :-Bhimsen Joshi / Y3+ SIEh

27)

Question Stimulus :-

Find the odd one out / faw® aram gﬁr&
* Bhimsen Joshi / AT St
® Subhas Chandra Bose / JHTY TS C1E:|
* B.R. Ambedkar / §1.3¥ JidSH
® Mokshagundam Visvesvaraya / ﬁ&‘l’l’ﬂg'q faas

Correct Answer :-Subhas Chandra Bose / JHTY d% a1

28)
Question Stimulus :-

Who was the first woman in space? / 3iafes H tl%'?ﬂ Hfgen P9 A2

® Kalpana Chawla / @Al dTddl
(49)
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® Sunita Williams / ﬁT'ﬂT'IT fafer

e Sally Ride / el IS8
® Valentina Tereshkova / del=a 14T ﬁ’{&ﬁ?ﬂ

Correct Answer :-Valentina Tereshkova / Ae=c I9IT d¥XPIdl

29)

Question Stimulus :-

Who is the current Supreme Leader of North Korea? / 3dX PG BT gdqT= Fai=T AdT B %?
® Kim Jong-un / fou ST 39
e Kim Jong I1 / fp® ST 11
° KimIISung/ﬁ?Tl' I ﬁ"T
° KimTuBong/ﬁ?_qgaﬁ"‘T
Correct Answer :-Kim Jong-un / {69 S 39

30)
Question Stimulus :-

Who among the following is Chief of RSS? / frofafea @ 9 P RSS & H3T %.?
® Pramod Muthalik / L'I'H-']T:{ Hﬁlﬁ%ﬁ‘?
® LKAdvani / Td & 3rgar
® Baba Ramdev / dTdT TITI%H
® Mohan Bhagwat / 'Fﬁ?T-[ CINEG)

Correct Answer :-Mohan Bhagwat / HIg- HRTad

31)
Question Stimulus :-

Which is the biggest country in the world by area / PN R: | fay &1 qadq 98T o I 9T %?
® United States of America / TG I ATRDT
® China /?ﬂ:[
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® Russia /Y

® Brazil /aﬁﬂﬁ
Correct Answer :-Russia /&9
32)

Question Stimulus :-

What is the maximum permissible time gap between two sessions of Lok Sabha? / AHAUT & &l 91 & "

fIFaH THY SiaRTa fba-T giar g2
e 1year/1d¥
® 6weeks /6 UKIlg
® 6 months /6 'Flﬁﬁ
e 60 days /60 &=
Correct Answer :-6 months / 6 HgIH

33)
Question Stimulus :-

The Preamble to Indian Constitution is based on the “"Objective Resolution” introduced by

-/ YR ARYE F ITRIPT "I JHeq” W ARG @ Sl 39 gRT Uwdad fpar 14 41-
® Mr. Rajendra Prasad / & 16 UHTG
® Mr. Jawahar Lal Nehru / 8t S/aTgR @16 Ag%
® Mr. B. R. Ambedkar / 8t §1.3R. sr@s®HR
® Mr. Vallabh Bhai Patel / it GeYH HTS Ued

Correct Answer :-Mr. Jawahar Lal Nehru / §} SIGTgR 9@Td A%

34)
Question Stimulus :-

In the Panchayat Raj System, the 'Panchayat Samiti' is constituted at the level of the ./ g I

yurrert §, Uaradt |fifar &1 T4 59 WR W frar @ |
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* Block / SAIP
® Village /Tﬁ%
Correct Answer :-Block / ST®

35)

Question Stimulus :-

If a new state of the Indian Union is to be created, which one of the following schedules of the Constitution must
be amended? / Af¢ HIRATT TY BT TP 4T Y50 I1T AT ¥eT @ a1 7o & F Adfqur= &1 5w o= o
Ty fpar s anfee?

® Third / qd1d

® Second / ﬁ?‘ﬂ'q

® TFirst /UYH

e Fifth / OTadl
Correct Answer :-First / UYH
36)

Question Stimulus :-

All Ministers at the center are appointed by / Fg A gt vl #t ﬁ'ﬂ'%f s?%? gIRT a?ﬁ %

® The Prime Minister / WUTTHAL

® The President /?quﬁf
® The Vice-President / BTRTgCIﬁf
® Home Minister / Tﬁﬁ

Correct Answer :-The President /Tl'gqﬁl

37)
Question Stimulus :-

Which famous musician is believed to have invented the Tabla? / Tﬁq ﬁ m Tfaer &I aa?r DT STHD HTAT
SITdT 82

® Tansen / AT
® Mirza Ghalib / firsif mifer

(52)
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® Amir Khusrau / 3R RCGES

® TFaiz Ahmed Faiz /'aW;T Waﬁf
Correct Answer :-Amir Khusrau / 3R GO&
38)

Question Stimulus :-

In which among the following states is the Indus Civilization city Lothal? / 1% & & fory Iroa o Ry g &1
TMER AU §?

® Karnataka / HcH
® Rajastan / TSR
® West Bengal / ufyw Sre

® Gujarat / [OIRTd

Correct Answer :-Gujarat / [eIRTd

39)
Question Stimulus :-

Pakistan became Independent Nation on ./ qrfere= G| TP WaA MY 971
® 14 Aug 1947 / 14 3T 1947
® 15Jan 1948 / 15 SFa’l 1948
® 15 Aug 1947 / 15 3T 1947
® 14 Aug 1948 / 14 3T 1948
Correct Answer :-14 Aug 1947 / 14 3I¥d 1947
40)

Question Stimulus :-

In which place did Ardh Kumbha Mela begin in January 2016 /
WA 2016 T wel W 3 FH AAT JRY g2

e Shirdi / RRST

e Ujjain / I
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® Allahabad / SClgdlq
® Haridwar /E'P'@'R'

Correct Answer :-Haridwar / 8RgR

41)
Question Stimulus :-

Which film actor won Padma Vibhushan award in 2016? / f&® fre Sifimar % 2016 ® wr HUUT YR¥PIY
Sftar?

® Chiranjeevi / IELTIE]

® Shahrukh Khan / RMMgvd @I

® Salman Khan / HHTH W4

® Rajinikanth / ISP
Correct Answer :-Rajinikanth / ISTHI®HId
42)

Question Stimulus :-

Doordarshan is managed by ? / GYGRH &1 yae= ¥ gRI fPar S 82
® DD National / DD AT
® DD Bharati / DD IR
® Prasar Bharati / YIIR YRt
® Salma Sultan / H<HT exiTd

Correct Answer :-Prasar Bharati / TR HIRdl

43)

Question Stimulus :-

Which deity was not worshipped by the Vedic Aryans? / -8 dadr afd® 3maf gRT qot =EY oI A2
® Indra /3%
® Marut / HI®d

® Varun / 930]
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® Pashupati / "T{[qﬁl'

Correct Answer :-Pashupati / UR[afd

44)
Question Stimulus :-

Who among the following is winner of IIFA Award 2016 for Best Actor (Female) / 4 i
IPP UHT & I IIFA [REPR 2016 $1 faoiar #19 &

® Priyanka Chopra / frder i
* Deepika Padukone / SHfUeT tl'l'g'ﬂ'ﬂ*[
® Anushka Sharma / 3JSbT Tt

® None of these / 37'|1}I I aﬁs‘ T'|'Eﬂ
Correct Answer :-Deepika Padukone / SITU®T UTgHIH

45)
Question Stimulus :-

Who is the newly appointed Minister for Human Resource Development? / Tﬁﬁgﬂ?{ 14 faera Sareq

faera 4R I 82
® Smriti Irani / VYfd g1
® Prakash Javadekar / YPIRI m
e RamdasAthavle / JTAGRT fdTadt
® Anil Dave / 3@ 3%

Correct Answer :-Prakash Javadekar / Y&hTRT ST

46)
Question Stimulus :-

Which country was declared Measles Free by the World Health Organization in 2016? / 2016 T foxa @A

W6 gRT ford 31 &) WIRT Yad =1 9ii¥a fomar mar 82
® Brazil / STol®
® Argentina / SIS
* Chile /farett
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® Uruguay / 3Io1q
Correct Answer :-Brazil / Toitdl

47)

Question Stimulus :-

ISRO stands for / Gﬂ'ﬁ"wmx’:ﬁ (m) I dreard %

® Indian Space Research Organisation / Eﬁ'{q:[ v o aﬁﬁﬂwﬁm

® International Space Research Organisation / W Y o m

® Indian Sponsor Research Organisation / E'%TFI iR st &\fﬁqﬁﬁm

® Indian Space Recruitment Organisation /3’%‘&? O ﬁ@_q\?a? Gﬁ"‘-ﬁﬁﬁm
Correct Answer :-Indian Space Research Organisation /3’%‘&? Y fead Gﬁﬁﬁm

48)
Question Stimulus :-

When is the ‘World Hepatitis Day’ observed? / 'ﬁ%{ %ﬂa'{[%w ﬁaw Dd HATIT SITdT %?
e July 17th / a1 17
* June 27th / §H 27
e Jan 29th / S 29
e July 28th / S@S 28
Correct Answer :-July 28th / q@rs 28
49)

Question Stimulus :-

Which body is constituted in the place of Planning Commission? / ST TN & VI IR foyg
frora 1 e farar T 82

® Parliament / §9¢
e N.D.C./TH.S1.&L
e NITI Aayog / St} START

® All of these /& gt
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Correct Answer :-NITI Aayog / Sidl SITART

50)
Question Stimulus :-

Which of the following rivers has its source near Ajmer in the Aravalli Range? / Frafeafaa afeai 7 @ feg &1

SRTAT ¥ H ISR & U Wi 82
® Luni/ A
* Mahi/ H&!
* Narmada / TTHal
* None of these / $H & &g g1

Correct Answer :-Luni / Tt

51)
Question Stimulus :-

Name the point that lies in the first quadrant of a graph? / ﬁ"g" &I d1H Eﬁl'l?[a' S ATE & TAH aﬁﬂ'&ﬂ ¥ @

® (-4,-4)

° 4,-4)

°* (4,4

e (-4, 4)
Correct Answer :-4, 4)
52)

Question Stimulus :-

An article when discounted by 31% costs Rs.621. What was its actual price? / T d¥q UX oId 31% L] Q?C at
WA, df IYH BT 621 TUL gidl 8| BT aRATdP Yo T 82

® Rs. 1310 / = 1310
® Rs.900 / ¥ 900
® Rs.913.51 / ¥ 913.51

® Rs.192.51 / ¥ 192.51
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Correct Answer :-Rs. 900 / = 900

53)
Question Stimulus :-

The value of ( -1)105_ ( -1)104 / ( -1)105_( -1)104 H1HH

Correct Answer :-0

54)
Question Stimulus :-

If 6x%%12=1, find the value of x / Tf& 6x5%*12=1 B, T x T AT FHIferd

Correct Answer :--2

55)

Question Stimulus :-

The example for an algebraic equation is . / dreroftdTa IHteRor &1 TP Iqrerun

o (-1/4)3 x (-1/4)2

(172)2 + (1/3)% + (1/4)2

(xy +3x+2) + (3 +y)

1722+ (173)2 + (1/4y2=39
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Correct Answer :-(1/2)2 + (1/3)2 + (1/4y 2= 39

56)
Question Stimulus :-

Which of the following is need not be always true for a parallelogram? / fa d & guEaR T’-Iﬂ'{-lﬁ ¥ ford
fpaeT g2 W g srfvrard 4 B2

® Opposite sides are parallel and equal / e ‘HFITa THTAR 3R TRTER gidt %
® Opposite angles are Equal / ot P RIS A &
® Diagonals bisect each other / fawot P W &I fauTfora sa %
® Diagonals are equal. / faepof e B &
Correct Answer :-Diagonals are equal. / fawof RTaR B
57)

Question Stimulus :-

What is the sum of the exterior angles obtained on producing in order, the sides of a Polygon with 10 sides? / 10

YWI3if & TgYS Bt YoI3il & IIEHIv BT GRT FT 82
e 900"
e 720°
o 144
e 360
Correct Answer :-360"
58)

Question Stimulus :-

The graph shows forecast of the temperature and the actual temperature of a city on ten
days. The maximum deviation of actual temperature from the forecast is
/ ITE A T qEIu famar 8 iR e &1 ¢d &1 &1 arafas avaH e 81 g9 9 arafas
aquE F1 fwan fagad 8
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- i -
R\
7 1~‘ :" K
1‘ r? 'i‘
= - s ",‘j.l"
h\,l "Ff 'l
i Y P
® 3°¢
® 2°
® ]I°
® 4°¢
Correct Answer :-2°c
59)
Question Stimulus :-
The number of times a particular observation occurs is caIIe.d . Choose the
correct answer. / Rt IR T f[Afda Yeor afed a2, SA Fead @ | TEY IR g

® Data / SICI

® Frequency / IRERdI
® Array / Troft

® Range / URRR

Correct Answer :-Frequency / SRARAl

60)
Question Stimulus :-

CANCELLED

Two houses with one side common wall is to be fenced. The cost of fencing is Rs.22.40
per metre. is the cost of fencing both houses. / Th d¥Wp dAHA

I G TR | ORI T |1 R @ B P 22,40 Ufd Hex 1 3 TR B AR A A B

Fa gl

(60)
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House 1 House 2

15 m

23 m 27 m
® Rs.3390.60 / 3= 3390.60
® Rs.3087.30 / ¥= 3087.30
® Rs.3248.00 / 3= 3248.00
® Rs.3302.40 / 3= 3302.40

Correct Answer :-Rs.3248.00 / ¥ 3248.00

61)
Question Stimulus :-

In a certain region, a uniform magnetic field exists in the direction from south to north. An
electron enters the field from east to west. The force experienced by the electron due to

the field is / &t fAfia & ¥, Toau™ Jaoa &7 gféor @ Sw zn ¥ IufRa war 31 ts gawe &
# T J ufym &) 3R et 81 &F b FRU sAFE gRT He gy frar WH aren §d@ ghm

® towards north / SR BI 3MR
® towards east / QX9 CaReInd

® upwards / HUT B 3R
 downwards / I @Y 3R

Correct Answer :-upwards / $UR I 3R

62)
Question Stimulus :-

Acid rain is caused by SO> and NO5 gases present in polluted air. The pH of acid rain will be

about / 3% auf T HRUT Ugia gaT A IUfRIT SO, 3R N0, T §1 3 auf B} pH FTHT Fa-t gift
° 16

® 5.2

(61)
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° 10
Correct Answer :-5.2
63)

Question Stimulus :-

The work done by a man in lifting an object of mass 5 kg to a height 50 cm from the
ground level is ( g = 10 ms™2) / 5 f&AUM SHAA $t a5 B THIA & R A 50 TH B HA§ aP
IoM ¥ TP aafet gRT fbar T F1 A1 8( g = 10 ms™2)

® 25N

® 2500

® 25])

® 25
Correct Answer :-25)
64)
Question Stimulus :-
The Laboratory in India which maintains the standards of Sl units and calibrates the national standards of weights and
measures / HTd H WARTRITET Slf wan'ésa?mﬁ%?q‘r—lﬁﬁ AT Tt % GﬁTm@m a"TTI'@TI'
AFH! BT SRR Bl 3

® National Physical Laboratory, New Delhi /?T@'q Wifas m, =F.-§ m

® National Chemical Laboratory, Pune /?T@'q TS YIRTRITT, E‘ﬁ
National Testing Laboratory Pvt. Ltd, Delhi /?T@'q T wahT=ITEn LTIE%E' ﬁ'lﬁl%g, fect
Naval Physical and Oceanographic Laboratory, Kochi / T Hifae sk Wﬂ?ﬁﬁ'l‘ﬂ'q mﬂmnm CAEC]|

Correct Answer :-National Physical Laboratory, New Delhi /Tl'@'q e warT=mer, =r§ feeett

65)
Question Stimulus :-

The composition of Aqua Regia is / Wﬁf?ﬁm?
e Conc.H,S04 and Conc. HCI in ratio of 1:3 / Wi H2S0,4 3R Wig HCI 1:3 & 3Ud o

* Conc.HNOj3 and Conc. HCI in ratio of 1:3 / |i% HNO3 3R Jig HCI 1:3 & 3ud o
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e Conc.HNOj3 and Conc. HCl in ratio of 3:1 / Jig HNO3 3R % HCI 3:1 & U |

® Conc.H,S0,4 and Conc. HNOj is ratio of 3:1 / Hisk H,S0, 3R g HNO3 3:1 cg S{JUTd |

Correct Answer :-Conc.HNO3 and Conc. HCI in ratio of 1:3 / dig HNO3 3R Tig HCl 1:3 &
3guTa |

66)

Question Stimulus :-

Identify a heterogeneous mixture out of the following / 719 # & fawwitft frgor &t yg=nfae
® Blood plasma / ¥R GATSTHT
* Milk/gY
° Brass/TﬂTﬁf
® Soil / Hal

Correct Answer :-Soil / {JqI

67)
Question Stimulus :-

Which of the following is a prerequisite for “"Natural Selection” to occur? frad w

“UTpTaE AT F T & C U & Tawa® W B A 82

® Genetic variation GnﬂiITW/ fafrmrar

e Isolation / 3feliTd

e Migration / R0

e Phenotypic variation / &=l fafirsar
Correct Answer :-Genetic variation 3TJdiR%/ fafiar
68)

Question Stimulus :-

Which structure of the body is affected in case of osteoporosis and osteomalacia.

ATRGRRET 3R/ AfRUYgaT F 1 A INR F i At Txa=n yuifaa gt 8
* Bone B3I/

e Blood vessels / Yad aIfgHhIC
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e Skin ddl/

®* Eyes / EF|
Correct Answer :-Bone §Sl/
69)

Question Stimulus :-

10% of the bases in a DNA molecule are guanine. What could be the % of Thymine / :‘ﬁ'll""l'q 3] T 10 % &R
A 81 feae o g 8 9oar @2

® 40%

* 80%

* 20%

* 10%
Correct Answer :-40%
70)

Question Stimulus :-

The concept of Natural selection was first given by / Wﬁﬁ? T P ATYURUN JAUYH & GRI
& 5

® Charles Darwin / e SRaH

® Jean Baptiste Lamarck / i) %@w a'FI'IT%
® Hugo De Vries /E‘ﬁ St ars¥

® John Gregor Mendel /I R dsd

Correct Answer :-Charles Darwin /m sRfE

71)

Question Stimulus :-

?:m—r:_E ?:m—rr_z

2m = Im+n 3 .
If ™" > then which of the following is true? / a2 -7~ " °  qafmff@cdd s
g 82

®* MmM=n
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®* m>n

* m<n

®* None
Correct Answer :-m =n
72)

Question Stimulus :-

CANCELLED

The average salary of worker in a factory is Rs. 8000.The average salary of 7 managers is
Rs. 6000 and the average salary of the rest is Rs. 6000.The total number of employees is? /

TP HREE § HHARI 1 3T 8000 ¥UT g1 7 AASRI $1 3T 3T 6000 FUT g 3R IPH! @Nll BI
3T 3T 6000 FUT 1 FHAMNG! BI Fo @& fHa-t 82

® 30
° 32
® 35
° 38
Correct Answer :-30

73)

Question Stimulus :-

Mallesh said to his son, “ I was as old as you are at present at the time of your birth”. If the Mallesh’s age is 40

years now, the son’s age five years back was: | AR A G'Nﬁa%ﬁw, “WW%W% an‘ga?hﬂﬁ
IR 3G & TR v | afe 3l Aeetw &t 3mg 40 99 B, A Ui qTe T As S @t 3rg At

® 10 years/ 10 CL

e 12 years/ 1294

® 15years / 15 af

® 17 years / 17 CL
Correct Answer :-15 years / 15 94
74)

Question Stimulus :-
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A person was asked to state his age in years. His reply was, “Take my age five years hence, multiply it by five and
then subtract five times my age five years ago and you will know how old I am”. What was the age of the person? /

e e I 9d A ISt oMy yBt Y <t | ITHT wrare o1, «<uiw a¥ q1¢ arelt A oy Ao, S9! uim A
o A MR fBR i AT AT SR | Ui 9T Ugd arelt A g Hi geT S SR STuwt udT I SITe
5 A8 amg frasit 31 aafea Ft emg fpaeht R

® 40 years / 40 CL

® 50 years / 50 CL

* 60 years / 60 T

e 70 years / 70 9§
Correct Answer :-50 years / 50 94
75)
Question Stimulus :-
11/4™ of 64 is / 64 BT 11/4ﬁ T

® 196

e 210

® 176

* 180
Correct Answer :-176
76)
Question Stimulus :-

1/8th of 400 is how much less than 2/5th of 200? / 400 &1 1/8, 200 ¥ 2/5% A a1 F0

82
° 30
° 40
° 60
° 70

Correct Answer :-30
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77)

Question Stimulus :-

GET IT ON
Google Play

Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his percentage loss. / g A 20 =YY

Ufd o | 5 gol 38 WIS, 73S g 5T A1 3! U= I+ J1d B

® 11.62%
® 12.65%
® 13.16%

® None of the above / SURIGd aﬂ's{ f T'Iﬁ

Correct Answer :-11.62%

78)
Question Stimulus :-
Fill in the missing alphabets / T 31&R URT

a__ab__aaba_ b___

® ab,ab

® a,aab

® b,b,b,a

® b,a,b,a
Correct Answer :-b, b, b, a
79)

Question Stimulus :-

14% of 800 is / 800 PT 14% 8-
° 136
° 146
° 112

®* 158
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Correct Answer :-112

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR al & A 9 91 1 RA 10 1d & THeH A 8] 82

United States Canoe and Kayak Team
E-Mail: usckt@aol.com

Indianapolis, Indiana

(317) 237-5690

(800) 733-4976

(i) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(ii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana

(317) 237-5690
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(800) 733-4976

(iv) United States Canoe and Kayak Team
E-Mail: usakt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

® i

® v
Correct Answer :-iv
81)

Question Stimulus :-

The series given below contains a sequence of alphabets and nhumbers. Identify the

incorrect combination: / R & T S@ar # 3R} R Jw3if BT HH Gffera |1 e JaeH

i. df8o7e6uwz ii. df8o7e6uwz
iii. df8o7e6uvvz iv. df8o7e6uwz
° j
® ii
® iii
* v

Correct Answer :-iii

82)

Question Stimulus :-

The speed of a car increases by 5 km after every one hour. If the distance traveled in the first one hour was 45

km, then what is the total distance traveled in 7 hrs? / g¥ Udh e P UYTd PR P! Tfd ¥ 5 fpdt &t q@ ﬁ?ﬁ %I

(69)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

gfe ugd Ue °e H aU Ft TS it 45 Fomft i, @Y 7 °E A 99 $ 1€ pa g Samn ww 2
® 400 km /400 et
* 350 km /350 fopeft
* 380 km /380 fopei
* 420 km / 420 fo5eft

Correct Answer :-420 km / 420 foHt

83)
Question Stimulus :-

Gopal takes 70 milky bars at Rs.2 each 50 Cadbury at Rs.10 each; and 90 perks at Rs.5. How much discount will
get at 5%? / TUTA U 2 TA® & od | 70 Pt IR, TW 10 TAS & o | 50 HSaY; 9YT Y 5
TS & Ted | 90 UH AT 31 5% DI & W I fPpa-it ge urw gift?

® 54.50

® 50.50

®* 60.50

® 70.50

Correct Answer :-54.50

84)
Question Stimulus :-

Find the next term in the series 1,4,10,22,46, /&l # 3RTAT UG [T PIOIT 1,4,10,22,46,
° 68
° 48
e 12
° 94
Correct Answer :-94

85)

Question Stimulus :-

(70)
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Find the next term in the series. / 98T # 3RTAT UG |9 HIOT|

6, 12, 30, 84, 246

° 732

° 832

® 944

® 748
Correct Answer :-732
86)

Question Stimulus :-

In a certain language ‘veny heny steny’ means ‘get out man’ and ' steny shomy shelt’
means ‘out of danger’. Then in that language the word ‘steny’ is used for: / <t @ v §
‘veny heny steny’ &1 Hddd % ‘get out man’ M steny shomy shelt’ &1 Hddd % ‘out of
danger’| df 3T YT # T ‘steny’ THP forT WaNT BT 8:

® danger
® man
® out
® of
Correct Answer :-out

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /i femma 1 w9 o STt GﬂTﬁf P9 It ghft?

1 i il v

(71)
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Correct Answer :-

88)
Question Stimulus :-

Two people, P and Q are married to each other. E and F are brothers. If E is P’s brother,

then, how is F related to Q? / &l @NI, P 3fR Q T® guiX | XMMEI-3[aT &1 E 3R F UiS g1 7 E, P &1
uig 8, @, F, Q ¥ $4 Wafta 82

® Brother-in-law / é?ﬂ
® Sister-in-law / %,avr—ﬁ
® Sister / dgd

® Cannot be determined / g1 JITd fHAT ST JhdT

(72)
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Correct Answer :-Brother-in-law / Sa%

89)

Question Stimulus :-

M # N means that M is the wife of N / M # N &1 Haad § f5 M, N 3t Uait §

M @ N means that M is the brother of N / M @ N ®T Adad ¢ f& M, N T 4TS @
M % N means that M is the father of N / M % N &T Wd@d g f& M, N & fiar §
M - N means that M is the sister of N / M- N #THdad ¢ f& M, N &1 984 @

M =N means thatM ismarriedtoN/ M = NWW%% M, N'\ﬁk’l'liﬁ‘{]ﬁ[?

If the relationship between Pand T is representet.:l.as P#Q @R % S - T, then, which of the
following is always TRUE? / R PR THF T FTHIUP# Q@R % S - T A cxfar mur g, &Y, Ay
H A P T FHRM T FRI?

e P is the father-in-law of S. / P, S & G{qR &1

e S is the daughter-in-law of Q. / S, Q #1 §g &

e Qistheuncleof T. / Q, T & 3i%d 2|

e Tis the nephew of Q. / T, Q HT Hdlen 2|
Correct Answer :-Q is the uncle of T. / Q, T & 3i®d gl
90)

Question Stimulus :-

A is married to C. F is B’s brother. D is A’s daughter. E is C’s brother. B is C’s son, but C is not B’s mother. Who
is B’s mother? / A, C ¥ RITSI-GT 81 F, B T UTS 81 D, A Bt 1 81 E, C BT UTS 1 B, C FT Il &, Afp
C, B 9 HTdT 8l 81 B B! HIAT B &2

°* E

D

° A

* C
Correct Answer :-A
91)

Question Stimulus :-
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Which of the following is the mirror image of FOLDER? / IECEE:] P AT FOLDER BT ETfUT ufafea %”

EODDEE

EOI'DEE

EOODEEK
BEEEOI'D

EOT'DEE
Correct Answer :- 0

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If the third word has to have the
similar relationship with the fourth word, the fourth word will be: / Frauy ﬁ, ug?f Rloq BT W o & 91y
il U @ P Ty g1 afe TR Tt T N Wsg F A1y I YHR BT Y FHAT AL, A AT s

Lucid : Obscure :: Evasive : ? / tl?ﬁl'\"-?{: Y :: WCIE'TJf 1?
® Free / Yod
® Honest / 'QSTI'FIER
® Liberal / mﬁﬂ
® Frank / e

Correct Answer :-Honest / SHTER

93)
Question Stimulus :-

In how many different arrangements can 5 men and 5 women sit around a table so that no two men sit together? /

ot fpast i et ®, T 39 & A1 5 [0 Td 5 Aafgang 98 a&d 3 i 35 ot &t ey iy 932
® 5040
® 2520

® 2880
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° 1440

Correct Answer :-2880

94)

Question Stimulus :-

Mona goes for a walk from her house towards West. After walking 30 m she turns right and walks 20 m. She then
turns left and moves another 10 m, before turning left again and walks 40 m. She now turns to the left and walks 5

m. She then turns to her left. Find out the direction in which she is walking now? / HHET U W) | uf3y 3t
3R Tga F fore @<t 31 307 Aqat ge & 91¢ 98 o Yod! € 3R 207 Tadt 31 fbx a8 I &R
geol 8 3R g: 918 3R go ¥ ugd 3= 10} Tad! 3, 3k 40} Uga aadt 81 919 a8 914 gl @
3R 54t Tt 31 98 R 3rum 9 gedt 81 a8 ferm fAerfee e ag enft 9a 38 @2

® North-West / IAR-ufyH

o East/Q@f

® North / 3R

® South-East / E.'f&I'UT-Qﬁ

Correct Answer :-North / 3T¥

95)
Question Stimulus :-
The question is based on the following arrangement. / U¥ g gawr wR Smurfyd %I

WI1R%4JE#7MT219BH3AS9FQ5DG6USP

If the order of the last fifteen elements is reversed, which of the following will be the fifth to the right of twelfth
from the left end? / UG SMER} U Tl BT HH Tpita o o o, A Fra A AP A ad R A
IREd @ qrdl SR Uigar ghm?

U

Correct Answer :-U

96)
Question Stimulus :-

(73)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Select the statement which is logically equivalent to the given statement: / dg ®Y- gﬁﬁ S 9@ ot efke A ﬁ'a
™ $YT S GHH g

No athletes are lazy. All basketball players are athletes. /aﬁ'é Eﬁﬁ’ﬁ? 3Tt T-Iﬁ %'I gt srfSpe ara m
Tydlie Bl

® No basketball player is lazy. /ﬁé ft srfepe Ira m 3Teddt gt %I
® All basketball players are lazy. / g+t arfepe ara m STt ?I
® Some basketball players are lazy. / PO STf&pe did m 3rerft %'I
® None of the above. / SURIad aﬁ'ﬁ" qﬁl
Correct Answer :-No basketball player is lazy. / @5 H 91f&pe aid fRaarst et T8f gl

97)
Question Stimulus :-

Select the statement,which is the logical equivalent to the statement given below: / dg DY qﬁﬁ S 9% @t efte
q o T &Y & qUH §:

It is not true that both Rama and Ravana fought the battle. / T T a8l & % I 3R Irqur g = Y& STl
® Rama fought the battle and Ravana fought the battle / XTH = g dsT 3R Irqur g& dsi
® Rama fought the battle and Ravana didn’t fought the battle. / ITH G| g& dsi 3R Irqur F & T-Iﬁ dasrl
® Rama didn’t fought the battle and Ravana fought the battle. / ITH Cl J& qﬁ st 3R Irqur A J& sl

® Rama fought the battle or Ravana fought the battle. / JTH 4 Y& dsT g1 IMqul = Y& dsTl

Correct Answer :-Rama fought the battle or Ravana fought the battle. / ITH G| Y& ST g1 19Ul + &
dasri

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e ﬂ'ﬁrﬁ
S 23 T Fy=T 3R fAepuf & aR § I 8:

Statements: / ®YH:

All candles are horses. / g ﬁ'ﬂﬁﬁ'ﬂ‘f‘ﬂﬁ% %'I
Some bells are not candles. / $© uftedr HiuaRm@r T81 g
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Conclusions: / fAwsd:
i. All bells are horses. / G gftear giS &1
ii. Some bells are horses. / T3 "ftedrl U1 gl

® Only conclusion I follows / Had ey 1 AP adar %

® Only conclusion II follows / ad st 11 fAweaar 8

® Both conclusion I and II follows / s 1 3R 11 3 e &

e None of the conclusion I and II follows / TP 1 3R 11 & ¥ ®IS Wt 98 Fpear &
Correct Answer :-None of the conclusion I and II follows / fors®d 1 3iR 11 & & ﬁé ft 7Y frpaar g
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fdwe g
i 3 T FyET R el & IR F 9t @

Statements: / $YH:
All roads are baskets / 9¥ G8& oAl g
Some roads are windows / $© Gs& fQsfbal &

Conclusions: / fAwsd:
i. Some baskets are windows / $© cIHRAl RAsiPbal &
ii. Some windows are baskets / $ fasf&al SwRar §

® Only conclusion I follows / Had ey 1 fAeaar %

® Only conclusion II follows / ad st 11 fAweaar 8

® Both conclusion I and II follows / s 1 3R 11 S fAPed &

® None of the conclusion I and II follows / f-ed 1 3R 11 & A ﬁ% ot qﬁ Freaar %

Correct Answer :-Both conclusion I and II follows / fssd 1 3R 11 ST frpea %

100)

Question Stimulus :-
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Select the option that is true about the Statements and Conclusions given: / dg foweu ﬂﬁ'&
S 3 T YA 3R Frewsf & I F IE @

Statements: / ®Y:
All bottles are iron / T4 dida algT @

Some bottles are paper / $T dldd BT &

Conclusions: / fAwd:
i. Some iron are paper / WFﬁ%W%

il. Some paper are iron / P9 PN 9 &
® Only conclusion I follows / Had ey 1 freadar %
® Only conclusion II follows / Fad ey 11 fReedar %
® Both conclusion I and II follows / fAIs# Y 1 3R 11 atﬁ read %
® None of the conclusion I and II follows / ﬁ'ﬁﬂf | Gﬁ? 11 ﬁ ﬂ' aﬁi ngf ﬁ'ﬁ?ﬂ %

Correct Answer :-Both conclusion I and IT follows / foIs 1 Sﬁ?' 11 ﬁ frreaq %
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